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61. Which of the following complexes will exhibit maximum attraction to an applied magnetic field?
(1) [Ni (H,0)¢** (2) [Zn (H,0),]* () [CoHO) " (D [Co(en),]*
ffaRad # & o A1 Aqgd gea & § |affde afd g ?
(1) [Ni (H,0),J** (2) [Zn(H)0) ] (3) [Co (H,0) > (4 [Co (en),]**
Question ID:715505384 1
Ans. 3

Sol.  — Number of unpaired e~ oc maximum attraction
(1) [Zn(H,0) " =d"’ = ‘[62g e‘tg = 0 unpaired e
(2) [Ni(H,0) ]* =d*= t62g e2g =2 unpaired e
(3) [Co(H,0) " =d"= ‘[52g efg =3 unpaired e
(4) [Co(en),Pr=d°= ‘[62g e°g =0 unpaired e
62. Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Order of acidic nature of the following compounds isA>B > C.

OH OH OH
A B9 C CH,

Reason R : Fluoro is a stronger electron withdrawing group than Chloro group.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A

(3) Ais false but R is trun

(4) Ais ture but R is false

Given below are two statements, one is labelled as Assertion A and the other is labeeled as Reason R.

3B A : fR=faRaag At @1 sreiaar &1 9 8 A>B>C

OH OH OH
@CI @ Q
A B F C CHs

PRI R : WARI FARI § SATQT Y Seldg[ — 3MMehyl W98 o
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SURIRT BT B AR IR i & T fdbedi § 4 el SR @l g -

(1) AR R 1 W& 8 oifdd R, A &) W81 &Ira 2 |
(2) AR R TH1 WET ® offdd R, A &1 &1 @IReT 981 8 |

(3) AHEI 78! & TR R |2l 7 |

(4)A¥E 8 g R Tl & |
Question ID:7155053847
Ans. 2
Sol. .. Inductive effect is distance dependent so distance increses inductive effect decreses.
63. The total number of stereoisomers for the complex [Cr(ox),CIBr[* (where ox = oxalate) is :

(D1 (2)2 3)3 4) 4

Hagel [Cr(ox),CIBr]* (STef ox = sifeicie) & forq gol fafde wamazdr :

(D1 2)2 3)3 (4) 4
Question ID: 7155053843
Ans. 3
Sol.  [Cr(ox),CIBr]*

[M(AA),bc]

b A
A\ | y 3 A\ | y b Mirror
(M) AN BT
A7 | DA A7 | e
C \_A
O.L O.A.

64. Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : The diameter of colloidal particles in solution should not be much smaller than wavelength of
light to show Tyndall effect.

Reason R: The light scatters in all directions when the size of particles is large enough.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both A and R are correct but R is NOT the correct explanation of A

(2) Both A and R are correct and R is the correct explanation of A

(3)Aistrue but R is false
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(4) Ais false but Ris true

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R.
B A : fosd ywia e & oy faead 3 SIdfgsS! S0l b1 A YTl Bl aRi—aed ¥ 9gd $HH a8l
T AR |

SR R: 59 PO PT AGR TG GT BT & Td YHRN BT Yo a1 fa=maii 3§ 8 2 |

IWIFT BT B AR R A T T fadheni | F81 IR BI g

(1) AR R TH1 W& € W R, A @ &I &Iren 78 2

(2) AR R SHI ¥&l & W] R, A& &I IRAT 2 |

(3)AEA & <] R34 & |

(4) AT 8 WJRIAW 7 |

Question ID:7155053834
Ans. 2
Sol.  Tyndall effect is observed only when the following two conditions are satisfied

65.

(a) The diameter of the dispersed particle is not much smaller than the wave length of light used.

(b) Refractive indices of dispersed phase and dispersion medium differ greatly in magnitude.

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : Isotopes of hydrogen have almost same chemical properties, but difference in their rates of
reaction.

Reason R : [sotopes of hydrogen have different enthalpy of bond dissociation.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both A and R are correct but R is NOT the correct explanation of A

(2) Ais correct but R is not correct

(3) Both A and R are correct and R is the correct explanation of A

(4) Aiis not correct but R is correct

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R.
JAABAT A : BRSO & FHLRID] B VI A THRAG ORR 81T & U AMATHAT Bl T AT T
Il B |

PR R : SISO & TERAGT B der fIAo Tl 3TeT—3el T Bl 2 |

JWIF] AT & AER W id QI T fdhed] 3 Fad I TR DI G

(1) AR R SH! W&l & 3R R, A &1 &I et Jal 2 |
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(2) A¥E TR R 3 B |
(3) AR R Sl &1 € 3IR R, A ®l 98! &IR&T 2 |
(4) AT 8 IR=] R¥ 7 |

Question ID:7155053837
Ans. 3
Sol.  Since the isotopes have the same electronic configuration, they have almost same chemical properties. The

66.

only difference is in their rates of reactions, mainly due to their different enthalpy of bond dissociation.
Better method for preparation of BeF,, among the following is
(1)BeO+C+F, 2 yBeF,

(2) (NH,),BeF 2, BeF,

(3)BeH,+F, A ,BeF,

(4)Be+F, 2 yBeF,

fer=feifad i 1 BeF, a9 &1 A9 3F0T ¥l &
(1)BeO+C+F, 2 4 BeF,

(2) NH,),BeF 2 BeF,

(3)BeH, +F, 2 ,BeF,

(4)Be+F, 4 yBeF,

Question ID:7155053838

Ans.

Sol.

67.

2

As per NECRT (S-block), the better method of preparation of BeF, is heating (NH, ), BeF,

(NH,),BeF 2 ,BeF, + NH,F

In the wet tests for detection of various cations by precipitation, Ba?* cations are detected by obtaining precipitate
of

(1) Ba(OAc),

(2) BaSO,

(3) Ba(ox) : Barium oxalate

(4) BaCO,

fAf =T eIl T @EYYT §IRT UaT oI & 9 UReroli # Ba’* €I Pl — @ Ay gRT Ugal SIil @ :
(1) Ba(OAc),

(2) BaSO,
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(3) Ba(ox) : Barium oxalate

(4) BaCO,
Question ID:7155053844
Ans. 4

Sol.  Inwettesting (NH,),CO, is used as group reagent for 5" group cations (Ba**, Ca**, Sr*")
Ba” + (NH,),CO, —> BaCO,{ + NH?

white ppt
68.  The naturally occurring amino acid that contains only one basic functional group in its chemical structure is
(1) asparagine (2) lysine (3) histidine (4) arginine
RfId U W U S dTell VAT 3Fd RTda! ddd U dRY fhaiete W8 81T @ -
(1) VRRTSI (2) s (3) feRed (4) it
Question ID:7155053850
Ans. 1

Sol.  Asparagine has only one basic functional group in its chemical structure.
NH, it
W'\ on
O NH,
Others are basic amino acid with more than one basic functional group.
69.  Match List [ with List II
LISTI LISTII

A. Weak intermolecular forces of attraction 1. Hexamethylenediamine +adipic acid

B. Hydrogen bonding IL. AlEt, +TiCl,
C. Heavily branched polymer III. 2-chloro-1, 3-butadiene
D. High density polymer IV. Phenol + formaldehyde

Choose the correct answer from the options given below :
(1) A-II1L, B-1, C-1V, D-II
(2) A-1V, B-1, C-II1, D-II
(3) A-1V, B-I1, C-III, D-1
(4) A-I1, B-1V, C-1, D-III
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A 11 11 gaferd & :

il Sl

A. IS IR 3MMOTD BT I TR + USfd ard
B. gIgSIo 31mee II. AlEt,+TiCl,

C. I=d AR 9gad 11 2-FARI-1, 3-FcTSISA

D. S<d g+ 9§l IV. B + BiiceRES

A o T fadweni 4 ¥ |8l SR Bl g ¢

(1) A-IIL, B-1, C-IV, D-II
(2) A-1V, B-I, C-IIL, D-II
(3) A-1V, B-IL, C-1II, D-I
(4) A-1L, B-1V, C-1, D-III

Question ID:7155053851
Ans. 1
Sol.

® Hexamethylenediamine on reaction with adipic acid forms Nylon 6, 6 which shows H-bonding due to
presence of amide group.
® AlEt, + TiCl, is Ziegler-Natta catalyst used to prepare high density polyethylene.
® 2-chloro-1, 3-butadiene (chloroprene) is monomer of neoprene which is a rubber (an elastomer)
® Phenol —formaldehyde forms Bakelite which is heavily branched (cross — linked) polymer
70.  Match List I with List II
1- Bromopropane is reacted with reagents in List [ to give product in List I

LIST I - Reagent  LIST II - Product

A. KOH (alc) I. Nitrile
B. KCN (alc) II. Ester
C. AgNO, III. Alkene

D. H,CCOOAg IV. Nitroalkane

Choose the correct answer from the options given below :
(1) A-1, B-II, C-III, D-IV

(2) A-II1, B-1, C-1V, D-II

(3) A-1V, B-II1, C-II, D-1
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(4) A-L B-1IL, C-IV, D-II
A LT 119 gaferd &
1- ST G 1P AfdHd A Afifbar o i 11 o1 Sre <dr 2 |
A1 - afede @ 10 - SWs

A. KOH (alc) [. -rsgrigat

B. KCN (alc) II. T&x

C. AgNO, 1. oA

D. H,CCOOAg IV. AgedT
A1 ol T Red § W E TR B G

(1) A-L, B-IL, C-III, D-IV
(2) A-IIL, B-1, C-IV, D-II
(3) A-1V, B-III, C-II, D-I
(4) A-1, B-IIL, C-IV, D-II

Question ID:7155053846
Ans. 2
KOH(alc.)
— > CH—~CH=CH,
Sol. —CH—- —-B
° DRI T kaNe) oy - cn-ne
CH3COOAy ’ : :
AgNO

L~ — > CH~CH,~ CH,—NO,
CH~CH;~ CH,~0—C—CH,

0)
71.  Identify the correct order of standard enthalpy of formation of sodium halides.
(1) NaCl < NaF < NaBr < Nal
(2) NaF < NaCl < NaBr < Nal
(3) Nal < NaBr < NaCl < NaF
(4) Nal < NaBr < NaF < NaCl
AT vargs! & forg A9d fava Tedl & |l %9 31 ugaH |
(1) NaCl < NaF < NaBr < Nal
(2) NaF < NaCl < NaBr < Nal
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(3) Nal < NaBr < NaCl < NaF
(4) Nal <NaBr < NaF <NaCl
Question ID:7155053839
Ans. 3
Sol.  Nal <NaBr <NaCl < NaF
72.  The covalency and oxidation state respectively of boron in [BF, ], are
(1)3and 4 (2)4 and 3 (3)4and 4 (4)3and 5
IR b1 HewddTSTdl 3R Sifeitepror sraeer [BF,] ¥ waer & |
(1)3 3R 4 (2) 43R 3 (3) 43R4 (4)33iR5
Question ID:7155053835
Ans. 2
Sol. [ F 1
b
— No. of covalent bond formed by Boron is 4
— oxidation numberof B x +4 x (-1) =-1
x=+3
73. Which of the following are the Green house gases?

A. Water vapour

B. Ozone

C. 1,

D. Molecular hydrogen

Choose the most appropriate answer from the options given below :

(1)Band C only (2) Cand D only (3)Aand D only (4) Aand B only

fr=ferfaa # 9§ d-—a9 eRas 44 8 ?
A. e ars

B. 35

C.1,
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D. 3mvifadsd gggior

A fod ) fadpedl # | wad Sferd a1 g+ -

(1) ®aa BaiRC (2) wad C3RD (3) ®aed AIRD (4) Bad AR B
Question ID:7155053842
Ans. 4

Sol.  Water vapour, ozone
74. Given below are two statements :
Statement I : Tropolone is an aromatic compound and has 87 electrons.
Statement I1 : 7t electrons of > C = O group in tropolone is involved in aromaticity.
In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement II are false
(2) Statement I is true but Statement Il is false
(3) Statement I is false but Statement I is true
(4) Both Statement I and Statement II are ture
Given below are two statements :
P 1 : ST T WHfed AR 8 3R 399 87 scidg = 81 2 |
I : >C = 0 98 & 7 gelag™ WHRRIE # wIT oid 2 |
SWIAT BT & R W A G W fadwedi 7 9 ¥l IR BT UgdH
(1) BUF 1 3R B 1139 R |
(2) B [ 9 & IR B 11 399 7 |
(3) B 1 3T & U] HoA [ 6 B |

(4) B[ 3R B [1 9 2 |

Question ID:7155053845
Ans. 2
Oy os
w O~0O
(tropolone) (Aromatic)

8 ze” but only ring e~ & are take part in Aromaticity.
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75.  What happens when methane undergoes combustion in systems A and B respectively?
Adiabatic Diathe.rmic
system container
System A System B
System A System B
(1) Temperature rises Temperature remains same
(2) Temperature falls Temperature rises
(3) Temperature remains same Temperature rises
(4) Temperature falls Temperature remaisn same

RIT BT & 9d A9 g A 3IR B & a9l <89 &l & ?

Adiabatic Diathe.rmic
system container
System A System B
frera A e g B
(1) e 4 gfeg &t AT A 2R
(2) < 3 frerae B e i gf g
(3) AUHEE I BT RICGIGE:] gl B
(4) o # R grf TTIH FH BT
Question ID:7155053833
Ans. 1

Sol.  ForIsothermal process system should be diathermic.

76. Compound A from the following reaction sequence is :
Br
Br,,CS, B NaNO,/HCl c H,PO,
_— _ — 3
0-5°C ' A
Br Br
(1) Phenol (2) Salicylic Acid (3) Benzoic Acid (4) Aniline
fforRaa arfiforar ages # AT A :
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Br
Br,,CS, B NaNO,/HCl C. H,PO,
0-5°C A
Br Br
(1) wHre (2) dferfifer®s era (3) IIIg® 3rd (4) vfel=
Question ID:7155053849
Ans. 4

+

NH, NH, N,
Br.CS Br Br NaNo, Br Br

Sol. —r —_—
HCI

Br Br
lH3PO2
Br\@/Br

Br

77.  The major product for the following reactions is :

PaN HO~~~_"SH
Z CN—— >

(1) HO/\/S\/\CN

Z>c=NH

@ s

3) ys /\/0\/\CN

ZN(Cc=NH

©® d A~ 0ol

frferRaa srfaforar # a1 v SauTs R

P aN HO~~~_-SH
Z CN——— >

(1) HO/\/S\/\CN
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3) HS NN CN
ZSC=NH
4 I
S “~~OH
Question ID:7155053848
Ans. 1
i
Y PN (N
I SH ‘l’
OH H N
S\/e\
no” s C=N
N S\/\ A
HO C=N

78.  The correct group of halide ions which can be oxidised by oxygen in acidic medium is

(1) Bronly (2)Br-and I only (3)Cl, Brand I"only (4) I only

SCIgS 3T Dl el dif & Sifds SRS & §RT 3l Hezd # il fhar S Hepdl © |

(1) ®ad Br (2)@dd Br 3R I'  (3)®aat Cl, Br iR (4) daa I
Question ID:7155053840
Ans. 4
Sol.  OnlyI" among halide ions can be onidised to iodine by oxygen in acidic medium.

4I'(aq.) + 4H'(aq.) + O(g) = 2L, + 2H,0(0)
79. Given below are two statements related to Ellingham diagram :

Statement I : Ellingham diagrams can be constructed for formation of oxides, sulfides and halides of metals.
Statement I1 : It consists of plots of AH® vs T for formation of oxides of elements.

In the light of the above statements, choose the most appropriate answer from the options given below :

(1) Both Statement I and Statement II are incorrect

(2) Statement I is correct but Statement Il is incorrect

(3) Both Statement I and Statement II are correct
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(4) Statement I is incorrect but Statement II is correct

Given below are two statements related to Ellingham diagram :

$U | : UfTaH 31elRg &1 o1l & JifavTgs] Achigsi 3R Bagsi & a1 & fol¢ IRl Sl |hll o |
B I : I8 Tl & Sfieirgs] & a4 & g AH 3R T & e 3ol & |

IWIFT AT & AR W 1d (I T fdbed] 3 A Fad S IR DI g |

(1) @ 1IR 11 TH1 3 B |

(2) U 1 9 & W HI 1139 2 |
(3) B 13RI SHl 9 2 |

(4) BU 1 39T & IR HI 119 2 |

Question ID:7155053836

Ans.

Sol.

80.

2

Statement -1 : is correct, E llingham diagram can be constructed for formation of oxides, sulphides & halides of
metal.

Statement -11 : is incorrect because Ellingham diagram consists of ArG® vs T for formation of oxides of elements.
Given below are two statements :

Statement I : SO, and H,O both possess V-shaped structue.

Statement II : The bond angle of SO, is less than that of H,O.

In the light of the above statements, choose the most, appropriate answer from the options given below :

(1) Both Statement I and Statement II are correct

(2) Statement I is correct but Statement Il is incorrect

(3) Statement I is incorrect but Statement I is correct

(4) Both Statement I and Statement II are incorrect

Given below are two statements :

S 1 : SO, 3R H,0 Tl ®1 Ad V-3PR @ & |

o 11 : SO, 1 37ae 1o H O | &4 Bl 2 |

JWIF AT & AR W i1d [ T fdbed] 3 | Fad S SR DI g |

(1) B 1 3R B I <1 9T B |

(2) T FF 8 TR B 11 3 3 |

(3) T 3 & W B 11 9 7 |
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(4) PU 1 3R B 1 3T & |

Question ID:7155053832
Ans. 2
§ QOD
V—Shape V—Shape
81. Sodium metal crystallizes in a body centred cubic lattice with unit cell edge length of 4A. The radius of sodium
atom is x 10" A (Nearest integer)
ARSI a1 4A PIftcHT DR TS & A1 30T Sivad THR-I TTddd & T H fheceligd I 2 | AIfSTH TRATY]
CIRERYI] x 10" A (Fraeaw qurie)
Question ID:7155053853
Ans. 17
Sol.  For BCC
J39 =4r
- ﬁ: 4173
=1732x 10" A
82. A(g) > 2B (g) + C(g)is afirst order reaction. The initial pressure of the system was found to be 800 mm Hg
which increased to 1600 mm Hg after 10 min. The total pressure of the system after 30 min will be
mm Hg. (Nearest integer)
A(g) = 2B (g) + C (g) Ud UM DI &I AMfHAT & | MHRI &1 IR <1d 8§00 mm Hg o Siifds 10 min 91
1600 mm Hg &1 7147 | F&1a &1 el <930 mind€ _ mm Hg 811 | (Mdean quria)
Question ID:7155053858
Ans. 2200
Sol.  A(g)—> 2B(g) +C(g)
t=0 800
s
att=10 min, 800 —x 2x X
MATRIX JEE ACADEMY
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800 —-x+2x +x=1600
x =400

800
K x 10=2303 log 7o

~2.303x0.30
k= 10
after 30 min.
A(g)—> 2B(g) + C(g)

t=0 800 0 0

att=30 min. 800 —x 2X X

2.303x0.30
10

800
log ST 0.9

800

Pt
Pt=100
Pt=800—x=100
x =700

So Total pressure after 30 mini will be 2200 mm Hg

800
x30 =2.303 log e

83. See the following chemical reaction :
Cr,0’+XH" +6F > YCr'+6F*+ZHO0
The sumof X, Y and Zis
fforReaa arfirfohar @1 <
Cr,0’+XH +6F> > YCr'+6F*+ZHO0
X, Y 3R Z &1 anr =
Question ID:7155053859
Ans. 23
Sol. ~ MH"+ Cr,0.?+ 6Fe” — 2Cr" + 6Fe" + 7H,0
84.  The orbital angular momentum of an electron in 3s orbital is xh . The value of x is

2n

(nearest
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integer)
mﬁsmcr;miﬁmsmacbﬁcbamzﬁvﬁaw%%‘lxiﬁrﬂﬁ 2| (Macan gurfs)
Question ID:7155053854
Ans. 0
Sol.  Orbital angular momentum = /(£ +1) %
fors; (=0
85.  Ifthe formula of Borax isNa,B,O, (OH), . zH,0, thenx+y+z=
afd aRa¥ b1 ¥ Na,B O, (OH) zH,0, 8 T x +y +z= B |
Question ID:7155053860
Ans. 17
Sol.  Formula of borax is Na,B,0, (OH), - 8H,0
86. 0.400 g of an organic compound (X) gave 0.376 g of AgBr in Carius method for estimation of bromine. % of
bromine in the compound (X) is
(Given : Molar mass AgBr =188 g mol ! Br=80 g mol ')
HRer Ay | arie & feaRer 0.400 g dEHE Affw (X) 0.376 g AgBr <ar € | Aifid (X) # g/ &1
gfererd & |
(f&=am T/ 8 : AgBr &7 HIeR S = 188 ¢ mol ™! Br =80 g mol ™)
Question ID:7155053861
Ans. 40
X
Sol %601~ T s o
_ 80x0.376 !
188x0.400
=40%
87.  20mL of 0.1 M NaOH is added to 50 mL of 0.1 M acetic acid solution. The pH of the resulting solution is

x 1072 (Nearest interger)
Given : pKa (CH, COOH) =4.76
log2=10.30
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log3=0.48
0.1 M NaOH @& 20 mL &7 0.1 M ¥R¥e® 3rad @ 50 mL faeas # femar s 8 aRemd faees &1 pH
x 1028 | (Mwead qorie)
feam v & @ pKa (CH, COOH) = 4.76

log2=0.30
log3=0.48
Question ID:7155053856
Ans. 458
Sol.  CH,COOH + NaOH — CH,COONa + H,0
50 x 0.1 20 x 0.1
=5 2
A buffer solution will form
CH,COOH + CH,COONa
3 2
[CH,COONa]
pH =pKa+log m
=4.76 + log 2
3
=4.58
=458 x10

88.

Sea water contains 29.25% NaCl and 19% MgCl, by weight of solution. The normal boiling point of the sea
water is °C (Nearest integer)

Assume 100% ionization for both NaCl and MgCl,

Given: K, (H,0) =0.52 K kg mol ™

Molar mass of NaCl and MgCl, is 58.5 and 95 g mol ' respectively.

TRIGAR YT ot & faerm 7 29.25% NaCl 3k 19% MgCl, 8 el Sel &1 9y e °C
(Freream qori)

a1 ISR b NaCl 3ik MgCl, 100% 3T=iiepd 81 S 2 |

fezm & : K (H,0) = 0.52 K kg mol™!
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NaCl 3k MgCl, @& HIelR S8 e 58.5 3R 95 gmol ' & |

Question ID:7155053855
Ans. 116

Sol.  29.25% %NaCl =29.25 g NaCl s dissolved in 100 g solution

w
19% W MgCl, =19 g MgCl, is dissolved in 100g solution

Total mass of solute =[29.25+19]=48.25¢
Total mass of solvent=100-48.25=51.75

Dtb=1i.m.kb

2x29.25x100 3x19x1000
= + jx0.52
58.5x51.75 95x5x%x1.57

DTb=116.88°C

89.  At298 K, the standard reduction potential for Cu?'/ Cu electrode is 0.34 V.
Given: K Cu)(OH),=1x 10"

2.303RT

Take ———— =0.059V

F

The reduction potential at pH = 14 for the above couple is (-)x x 102 V.

The value of x is

298 K a0 Cu?*/ Cu Saidgls &I dFdh 3r9aad favyg 0.34 V& |
e e & : K, Cu)(OH), = 1 x 10

2.303RT

SRIGT SIS BT 9= fang pH =14 W (-)x x 102V |

=

Take —r 0.059V
X Pl HIHT

Question ID:7155053857

Ans. 25

Sol.  Cu(OH),(s) ==>Cu’"(aq) + 20H (aq)

Ksp = [Cu*][OH ]

pH=14;pOH=0; [OH]=IM

Ksp
[Cu*] = [T =10>*M

Cu*(aq) +2e — Cu(s)
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0.059 1

—po_ —log,,———

0.059 1
AT

=-025=-25x%x107

=0.34 -

90. 1g of a carbonate (M,CO,) on treatment with excess HCI produces. 0.01 mol of CO,. The molar mass of
M,CO, is gmol'. (Nearest integer)
1g ®raive (M,CO,) ®1 HCl @ afferer & affifebar e wx CO, @1 0.01 Aiet <@l & | M,CO, &7 HieR g
g mol ™' g | (Mdwedq gurie)
Question ID:7155053852

Ans. 100
Sol  M.CO, +2HCI - 2MCl + H,0 + CO,

Excess 0.02 mole 0.01 mole

Form principle of atomic conservation of carbon atom,
Mole of M,CO, x 1 =Mole of CO, x 1

Igm

1gm

molar mass of M,CO, LB

.. Molar mass of M,CO, = 100 gm/mole
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